7.2 Natural Logarithms $* \frac{d}{dx} \left(\ln u \right) = \frac{du/dx}{u}$ * Properties of the natural Logarithm! 1) In bx = Inb + Inx 2) $\ln \frac{b}{x} = \ln b - \ln x$ 3) $ln \frac{1}{x} = -ln x$ 4) ln x" = " lnx * S du = lu1+c

2 Express the following in terms of
$$l_{n} = 1$$
 and $l_{n} = 1$ and $l_{n} =$

```
If use the properties of logarithms to simplify
a) \ln \sec \theta + \ln \cos \theta = \ln \frac{1}{\cos \theta} + \ln \cos \theta
   = ln cosb + ln cosb = -ln cosb + ln cosb = 0
b) ln (8x+4) - 2 ln 2
    \ln 4(2X+1) - 2 \ln 2 = \ln 4 + \ln(2X+1) - \ln 4
      = ln(2X+1)
  3 \ln \sqrt[3]{t^2-1} - \ln(t+1)
  = \ln (3\sqrt{t^2-1})^3 - \ln (t+1) = \ln (t^2-1) - \ln (t+1)
      = \ln (t-1)(t+1) - \ln (t+1)
      = ln(t-1) + ln(t+1) - ln(t+1)
      = h(t-1)
```

Question 10. Find the derivative of y with respect to x.
$$y = \ln \frac{10}{x^2}$$

$$y' = \frac{\left(\frac{10}{x}\right)'}{\left(\frac{10}{x}\right)} = \frac{-10}{\frac{x^2}{x^2}} = -\frac{10}{x^2} \cdot \frac{x}{x^2} \cdot \frac{x}{10} = -\frac{1}{x}$$
Question 14. Find the derivative of y with respect to x. $y = (\ln x)^3$

$$y' = 3(\ln x)^2 (\ln x)'$$

$$y' = 3(\ln x)^2 \cdot \frac{1}{x} = \frac{3(\ln x)^2}{x}$$
Question 16. Find the derivative of y with respect to t. $y = t\sqrt{\ln t}$

$$y' = t \cdot (\sqrt{\ln t})' + \sqrt{\ln t} \cdot 1$$

$$= t \cdot \frac{1}{2}(\ln t)^{\frac{1}{2}} \cdot 1 + \sqrt{\ln t}$$

$$y' = \frac{t}{2\sqrt{\ln t}} + \sqrt{\ln t}$$

Question 22. Find the derivative of y with respect to x.
$$y = \frac{x \ln x}{1 + \ln x}$$

$$y' = (1 + \ln x) \cdot (x \ln x)' - x \ln x (1 + \ln x)'$$

$$(1 + \ln x)^{2}$$

$$y' = (1 + \ln x) \cdot (x \cdot \frac{1}{x} + \ln x \cdot 1) - x \ln x (0 + \frac{1}{x})$$

$$(1 + \ln x)^{2}$$

$$y' = (1 + \ln x) \cdot (1 + \ln x) - x \ln x \cdot \frac{1}{x}$$

$$(1 + \ln x)^{2}$$

$$y' = 1 + 2 \ln x + (\ln x)^{2} - \ln x$$

$$(1 + \ln x)^{2}$$

$$y' = (\ln x)^{2} + \ln x + 1$$

$$(1 + \ln x)^{2}$$

find the derivative of y

$$y = \frac{l_{1} \times x}{1 + l_{1} \times x}$$

$$y' = (1 + l_{1} \times x) \cdot \frac{1}{x} - l_{1} \times (\frac{1}{x})$$

$$(1 + l_{1} \times x)^{2}$$

$$= \frac{1 + l_{1} \times x - l_{1} \times x}{x} - \frac{1}{(1 + l_{1} \times x)^{2}}$$

$$= \frac{1}{x(1 + l_{1} \times x)^{2}}$$

$$= \frac{1}{x(1 + l_{1} \times x)^{2}}$$

$$= \frac{1}{x(1 + l_{1} \times x)^{2}}$$

$$= \frac{1}{l_{1}(l_{1} \times x)} \cdot \frac{l_{1}(l_{1} \times x)}{l_{1}(l_{1} \times x)} \cdot \frac{l_{1}(l_{1} \times x)}{l_{1}(l_{1} \times x)}$$

$$= \frac{1}{l_{1}(l_{1} \times x)} \cdot \frac{1}{l_{1} \times x} \cdot \frac{1}{x} = \frac{1}{x \cdot l_{1}(l_{1} \times x)}$$

Question 31. Find the derivative of y with Page 376 respect to
$$\theta$$
. $y = h$ (sec(lne))

$$y' = \frac{\left(\text{Sec}(\ln \theta)\right)'}{\text{Sec}(\ln \theta)} = \frac{\text{Sec}(\ln \theta) \tan(\ln \theta)}{\text{Sec}(\ln \theta)}$$

$$y' = \frac{\left(\text{Sec}(\ln \theta)\right)'}{\text{Sec}(\ln \theta)} = \frac{\text{Sec}(\ln \theta)}{\text{Sec}(\ln \theta)}$$

$$y' = \frac{\text{Sec}(\ln \theta) \tan(\ln \theta)}{\text{Sec}(\ln \theta)} \cdot \frac{1}{\theta}$$

$$y' = \frac{\text{Sec}(\ln \theta) \tan(\ln \theta)}{\text{Sec}(\ln \theta)} \cdot \frac{1}{\theta}$$

$$y' = \frac{\text{Sec}(\ln \theta) \tan(\ln \theta)}{\text{Sec}(\ln \theta)} \cdot \frac{1}{\theta}$$

$$y' = \frac{\text{Sec}(\ln \theta) \tan(\ln \theta)}{\text{Sec}(\ln \theta)} \cdot \frac{1}{\theta}$$

$$y' = \frac{\text{Sec}(\ln \theta) \tan(\ln \theta)}{\text{Sec}(\ln \theta)} \cdot \frac{1}{\theta}$$

$$y' = \frac{\text{Sec}(\ln \theta)}{\text{Se$$

Uploaded By: anonymous

STUDENTS-HUB.com

Find the derivative of
$$y = \ln \frac{(X+1)^{5/2}}{(X+2)^{20}}$$
 $y = \ln \frac{(X+1)^{5/2}}{(X+2)^{10}} = \ln (X+1)^{5/2} - \ln (X+2)^{10}$
 $y = \frac{5}{2} \ln (X+1) - 10 \ln (X+2)$
 $y' = \frac{5}{2} \cdot \frac{1}{X+1} - \frac{10 \cdot 1}{X+2} = \frac{5}{2(X+1)} - \frac{10}{X+2}$
 $y' = \frac{5(X+2) - 20(X+1)}{2(X+1)(X+2)} = \frac{-15X - 10}{2(X+1)(X+2)}$

[Et $u = \sec x + \tan x$
 $du = (\sec x + \tan x)$
 $du = (\sec x + \sec^2 x) dx = \sec x (\tan x + \sec^2 x) dx$

$$\int \frac{\sec x}{\ln (\sec x + \tan x)} dx = \int \frac{1}{\ln u} \cdot \frac{du}{u}$$

Let $z = \ln u \rightarrow dz = \frac{du}{u}$
 $dz = \int \frac{dz}{\sqrt{2}} = \int \frac{1}{2} dz = \frac{z^{\frac{1}{2}}}{\sqrt{2}} + c$

$$= 2 \sqrt{Z} + C$$

$$= 2 \sqrt{\ln(\sec x + \tan x)} + C$$

$$= 2 \sqrt{\ln(\sec x + \tan x)} + C$$
Use logarithmic differentiation to find y
$$y = \frac{x \sqrt{x^2 + 1}}{(x + 1)^{2/3}}$$

$$\ln y = \ln \frac{x \sqrt{x^2 + 1}}{(x + 1)^{2/3}} = \ln x + \ln \sqrt{x^2 + 1} - \ln(x + 1)$$

$$\ln y = \ln x + \frac{1}{2} \ln(x^2 + 1) - \frac{2}{3} \ln(x + 1)$$

$$\frac{y}{y} = \frac{1}{x} + \frac{1}{2} \left(\frac{x^2 x}{x^2 + 1}\right) - \frac{2}{3} \cdot \frac{1}{x + 1}$$

$$y' = y \left(\frac{1}{x} + \frac{x}{x^2 + 1}\right) - \frac{2}{3x + 3}$$

$$y' = \frac{x \sqrt{x^2 + 1}}{(x + 1)^{2/3}} \left(\frac{1}{x} + \frac{x}{x^2 + 1} - \frac{2}{3x + 3}\right)$$

Question GH. Use logarithmic differentiation to find the derivative of y with respect to the independent variable
$$\theta$$
.

$$y = \frac{\theta \sin \theta}{\sqrt{\sec \theta}} = \ln(\theta \sin \theta) - \ln \sqrt{\sec \theta}$$

$$\ln y = \ln \theta + \ln \sin \theta - \frac{1}{2} \ln \sec \theta$$

$$\frac{y}{y} = \frac{\theta}{\theta} + \frac{(\sin \theta)}{\sin \theta} - \frac{1}{2} \frac{(\sec \theta)}{\sec \theta}$$

$$\frac{y}{y} = \frac{1}{\theta} + \frac{\cos \theta}{\sin \theta} - \frac{\sec \theta}{2 \sec \theta}$$

$$\frac{y}{y} = \frac{1}{\theta} + \frac{\cos \theta}{\sin \theta} - \frac{\sec \theta}{2 \sec \theta}$$

$$\frac{y}{y} = \frac{1}{\theta} + \frac{\cos \theta}{\sin \theta} - \frac{1}{2} \tan \theta$$

$$\frac{1}{\sqrt{\sec \theta}} = \frac{1}{\sqrt{\sec \theta}} + \frac{1}{\sqrt{\sec \theta}} = \frac{1}{\sqrt{\sec \theta}} =$$

Question 66. Use logarithmic differentiation

Page 376 to find the derivative of y with

respect of y with respect to x.

$$y = \sqrt{\frac{(x+1)^{10}}{(2x+1)^5}}$$

$$\ln y = \ln \sqrt{\frac{(x+1)^{10}}{(2x+1)^5}} = \ln \left(\frac{(x+1)^{10}}{(2x+1)^5}\right)^{\frac{1}{2}}$$

$$= \frac{1}{2} \left[\ln \frac{(x+1)^{10}}{(2x+1)^5} \right] = \ln \left(\frac{(x+1)^{10}}{(2x+1)^5} \right]$$

$$\ln y = \frac{1}{2} \left[\ln (x+1)^{10} - \ln (2x+1)^5 \right]$$

$$\ln y = \frac{1}{2} \left[\ln (x+1) - 5 \ln (2x+1) \right]$$

$$y' = \frac{1}{2} \left[\ln (x+1) - 5 \left(\frac{2x+1}{2x+1} \right) \right]$$

$$y' = \frac{1}{2} \left[\ln (\frac{1}{x+1}) - \frac{1}{2} \left(\frac{2x+1}{2x+1} \right) \right]$$

$$y' = \sqrt{\frac{1}{2}} \left[\ln (\frac{1}{x+1}) - \frac{1}{2} \left(\frac{2x+1}{2x+1} \right) \right]$$

$$y' = \sqrt{\frac{1}{2}} \left[\ln (\frac{1}{x+1}) - \frac{1}{2} \left(\frac{2x+1}{2x+1} \right) \right]$$

$$y' = \sqrt{\frac{1}{2}} \left[\ln (\frac{1}{x+1}) - \frac{1}{2} \left(\frac{2x+1}{2x+1} \right) \right]$$

Question 70.

Page 3+6

Page 3+6

increasing for
$$x > 1$$

$$f'(x) = 1 - \frac{1}{x}$$

if $x > 1 > \frac{1}{x} \rightarrow -1 < -\frac{1}{x}$

$$0 < 1 - \frac{1}{x}$$

$$0 < f(x)$$

So f is increasing.

b) Using part a, show that $\ln x < x$ if $x > 1$

$$f(x) > f(1)$$

for $x > 1$

$$f(x) > f(1)$$

for $x > 1$

$$f(x) > 0$$

$$x > \ln x$$

for $x > 1$

for $x > 1$

for $x > 1$

Find the area between the curves y = hx and y = hn x from x = 1 to x = 5 $A = \int_{0}^{\infty} dn \, 2x - dn \, x \, dx$ = 5 ln2 + lx - lx dx = 5 lmz dx $= \ln 2 \cdot \times \int_{1}^{5} = \ln 2 \left[5 - 1 \right] = 4 \ln 2$ = ln z' = ln 16.